A% Y orld of Mathematics | B4 2

LAZERNBL—REHEF

ik

LR RER—4EL LTS, —REEETHOER TS LT RIEKE, FI%
F AR W B B BB E 09 BT 1) 3R 4R 0

ARG R, B (0—H#5),

WA, TR ?

FEBATHIRZIE LG, WRSE BIXREME R . —Na AT F, R E5e A
Mo iR — A A L AR, SRR AR ) AN, XM AR A A P A%
PREL. FRTNER R, DA R — At

FEH BRI LR E SC . — AN RN — AR oK S0, W B b — 5 50T
WINPT AL (i D 3X 58 XE S b i AR 3 w7 1 — AN EeE %

PRI IR IH N7 RE2 Ak BN RN R UL L, R 2. B
DLH & 12, TR TSR g i ABE L, BT — MR K8 —— MR g (Galileo
Galilei, 1564-1642). iFxy “BURRFAZAL7 AR S B2 — LA R “ 387, 1E
A A IEL A4 cycloide B HARI T, SR ANBURITE & R s IR AR
MR IL : 17 AR, A KB R 2 K, R )L R, k. &
T 20 e SR SKAT)E K AR SR RO TIX — W e M RO RHIE BT S . RS
A EM LI ERAT WL 2 WIE R, TRIEFERZ KL, I T V247 5 R IALT
e, TG IRTE, LR A N ARG . DRI IR 2 PR “ LA 22 SR IM A8 7
(The Helen of Geometers) *.

TEAS BEAIE T, AR R AR EH W AN FAAE L, Ak SR Rl B S I £ 7
W gt SRS IR A 2 (WHESK %, Al gh iy ok T A, IF S ET K& THER R
et 5

), AR REANE L —. S b, B0 HETFZTDRITER.
EEREE, AERZERANNEE S, T, RN REEENEHEZRS.




orld of Mathematics | £¢224H =

L BLMSH0F GeHbmh 20
B, wEi M= (x,y), AT
(x,¥) = (OK, KC) + (CMcosa, CMsina)
= (6, r) + (— rsin, r — rcost)

= (r0 — rsind, r — rcosb).
TEfH

y=r(1-cos6) S OF

{ x=r(0—sin)
XA (HEEh 20 1) LS HOTRE. 20 M0 B 27 ARk, )i M(x, y) $%:
AR —HE . Witk E .

1L HHE A KT 5T UK FE
_ 2 _ 2 2.1 5 _ )
A—J.O ydx—J‘O r*(1-cos8)°d@ =3rr-.

BEA&TANBEEAREERECHEERMN 3 & XAt ik BEER P I
/K (G. P. de Roberval, 1602-1675) #F 1634 =R ILI . & UUFLIRAZEAA BRI — AN KA 5K,
CEBT IR ABIR LR 77 2T 26, A AERA o R I RE v AT 36 e IR 10 T4, e e — %
MRS T MhZ Ik . AHOCIREE e SRR, B DU R FIRAN IS AR LT B 1R K3
PHFAEBEAR. JRIAERALS RGN I A Z .

B MR 5 AT G 7 ¢ AR 1600 4ETT ), AN stk Bk R . T
AR T AN R RBLEIY, T EmER, N5 5AERERIRSTIARELLE. 5 H 25
WU, PRER IR L2 A e MBI 3 4%, Xk B “ Rz o7 BifoRAE.,

UL HOZR ORI - BB TR A, BATH

0
2r
= J. 2rsin(g)d9 =8r.
0 2

BE&E—HITKERE#E 4 & X ABIOTE L w AT « RS+ (Sir



AW Y orld of Mathematics | B4 2

Christopher Wren, 1632-1723 4£) 7E 1658 FEH—MNECE A . TR « FE, 17
TH 20 [ AR OK AN, VR 2 B I SRR A, AR R I R B R UM KA
= ERR AR BOSRTUE . MMRBE R SR S R AN A T TR 1663 A
FRY RN E R, IR T HE Ry, JLREC) T@ss. LR
BT ERY RH . W A XFEHR T . Si monumentum requiris, circumspice
(FRFaam, WaERAED.

IV IR ERG AT —— R Z A 4

\
y (

A b Ty R PR EIE [y Rl R B x J R 7ok, S RILTE B
ORI . B UE  NIIR ER, TRAE X AR A T AT — R . MR T FR S,
WS BGKT —F, WALk b ) WA I WIUR 05 M, N JSOT R ER,
IR & B B AR AR AL K IR (], RS R —MRH RIS R M,
N RIS, AR EE N ¥ 31 50 s Fr 4 10 B ) 002 — RE 0 o 3N R (0 2 3y A 4%
LI PE, Tt Al fr 22 HE ) B 5 ) B e« AT (Christian Huygens,
1629-1695) 7 1673 FE LI o

R TERAT O AE A b LR R R A A XA TR R (BT D T A )
B S ——n B, — S M: 0= 0, (5 FFFBIN: 0= 0, I 5 BT i a) 2

ro PG O
o 28y

TR HE S AT R R B R Ry, DU e R R R A, TR
B %1 1) 2 it 25 LR A (0 3 S

1,
oMV =mgy,
ot g T INREE, m Ol B, v ORHUE, FRAv=2gy. RS = ds/d (L
s i) A ds:,/(x')2 +(y)do, TATH

VY +O)
dr=X""_"27 49
V2gy




orld of Mathematics | £¢224H =

FERLAY BT LAAS 2 B I At Fog, FUSAM: 0= 6, N TREEETK: 0
= 7 [ 2T i R ) 2

. 6
Jur ’(X‘) +(y Jo— J-n \/;Slnada
91\/ 0,
2

g(cos® ~ —cos® g)

P d(cosg)
& 9‘1/coszi—cos2g
2 2
= —ZJz(arcsinO —arcsinl) = 71:\/2.
I 8

LIRS ], BA R ARIAHALE M [ 2 £ LA B A% A K T B I ) 2 —
W mrig, WEVIRLE I K. KU AR
BN BE, IEREA T BRI S I .

V. A dp T8 B 2 1)

ARSI AR 00 10 7 SR Ay e S e 2 e 7, K AR B T 1630 AR .
flAA B 22 B (8400, 44K, XIFARIEM. 60 245, I LEERLAH - (1%
FIFHRIXA B, FET 1696 4F ) FEAS R KBl 11 85027 R Bk, & i ml DAL e ax A
ERHWEE . LR 5 ANO2 TIX—E AT, RAJe2E. A - %R
I REFFAE AT o A0SR, A LA i v JU) 1) 44 - 1 () 85 b 08

gt AT o 5 1) R 1) 25 2 T AR VI 22 A T A B T T R LI A il e —— ek . T LLAR
B, X — K ARG ISR IR AT 2 DA . TORR L < A0SR A

R, Rk T, S EAVELINIELR A R X R A AR, BT EH IR
T WERT, BANBREEA, BALBRLIN, —MERELE—FEZLTH
B, fc,ﬁf)blk%%*ié’ﬂ‘]‘ 5&7]‘9{‘3’1“’1:1"“ B JR) 64 B D8] AR — ARG e 2%, :‘r:&
EIFRRAXANBL, BRRARMZRGREELRE, REFAILSRRR !

FEIX— W [ ), 20 A DURECE — AR E R ——2 R . X
REFH RARAE GO ) 2R B, A8 7k ) R AR BRVR AT — i B - - (R TRAT AN oK 7
AR A B GE R A e B ) ) AR

3
=Y

[\
S

—————————




